A A 4 A



Ab e E Al A

SN - BE . S2A(3) - KIRA - BAS 04l o & o HimE=T]
REx| = f 11,321,997 11,514,488 192,491
2 3,941 3,941 0
= 271,601 261,179 10,422
2 11,017,455 1,220,368 A202,913
EEICEETE 2,229,649 2,433,574 £208,925
= 3,941 3,941 0
= 226,776 231,354 ~4,578
2 1,969,932 2,169,279 199,347
IHEAMM 2E 973,808 1,265,255 A291,447
S 202,079 206,657 14,578
2 771,729 1,088,508 286,869
25 0o Y 37,000 365,000 328,000
401 &L= THY| 22,000 350,000 328,000
01 Al 22,000 350,000 328,000
OYUYPEAN P3TZ HEAY
3T 22,000,008 *14) 22,000 350,000 328,000
24 W 24 N 1,000 0 1,000
201 UBr2 o] 1,000 0 1,000
01 A2 1,000 0 1,000
OTAS WdH 24 NHAolRIRE] 4o
o 100, 0002 %52 23] 1,000 0 1,000
g otMO AR X 10,510 5,510 5,000
401 A&HIL =Y 5,000 0 5,000
01 Al&H] 5,000 0 5,000
OLMUNADE ARA Fet ZU| ZA
5,000,002 14! 5,000 0 5,000
pIxmslEURt2slol 29 N 24,710 22,710 2,000
307 BI2+0I 24,710 22,710 2,000
02 IZAMAIREE 16,910 14,910 2,000
ORFTIHSLN23/AYATEHIS| A
H 2T 16,910,002 *14] 16,910 14,910 2,000
e IEE R 46,369 44,959 1,410
307 212H0| A 46,369 44,959 1,410
03 LI SHYY S I =X 3,961 35,551 1,410
OAFR=Z 0I21t] 29,610 28,200 1,410
== AT 1,867,502 12128 22,410 21,000 1,410
Pos BopE 3oEols| XIS 3,640 0 3,640
307 BI2+0| ™ 3,640 0 3,640
2 LAMAIEE 3,640 0 3,640
OYRE PSAT AATHIS| AH|
3,640,0002» 14! 3,640 0 3,640
MRS AW M URARS X 14,400 8,700 5,700
401 A& L= THY| 3,500 0 3,500

-191-




SM: TRt
M XHE o 23
oo PHEAMN PE (chel:=gl)
SA-3Y . SA(ZA) - MIRAY - BES Ofl éxtoH N 3N Hlusz
01 A&t 3,500 0 3,500
PR AW IR FAXTA
3l ARA 24 3,500,002 14! 3,500 0 3,500
405 Kot S| 2,200 2,200
B 2,200 2,200
PR AW XYY FAX DA
3 ARA 22 79 2,200,0002 14! 2,200 0 2,200
MOISXIE X Sl XI2 9, 145 %801 A1,656
= 829 1,657 ~828
2 %,316 9, 144 ~828
301 Y BHZ 1,658 3,314 A1,656
= 829 1,657 ~88
2 829 1,657 £828
2 Al 2 HEATZ(HAHES, NLMR) 1,658 3,314 A1,656
OMOISXIEX XA &5t
A 1,658,0002%14] 1,658 3,314 A1,656
= 829 1,657 ~828
2 829 1,657 ~88
NETE TP 164,500 149,000 5,500
= 41,250 45,000 £3,750
2 113,250 104,000 9,250
301 Y BHZ 49,000 36,000 3,000
06 XHS 2 HAHI X 49,000 3,000 3,000
OXBYHY P YXE X
3,000,0002414! 3,000 0 3,000
oXEYHAEY II=Y X
312,50021%304 10,000 0 10,000
400 QITHRI=0IH 8,500 90,000 AT7,500
= 41,250 45,000 £3,750
= 41,250 45,000 A3,750
02 SIZRH= A 2 X (OIFTHR) 82,500 90,000 A7,500
ONSLHY =HEE HTX
2% 27,500,00021+30H 8,500 90,000 AT7,500
= 41,250 45,000 A3,750
2 41,250 45,000 £3,750
THEr=olsl X2 30,429 29,580 849
307 B12H0IH 30,429 29,580 849
03 I HEH 2SI 2E 22,029 21,180 849
OUYRTEZol5l 22| 17,829 16,980 849
OA2E 12| 17,829 16,980 849
123 AT 1,270, 75021+ 1 * 122 15,249 14,400 849
ARNREHY X2 290,783 289,373 1,410
= 20,000 20,000 0
2 170,783 69,373 1,410
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M XX
Zal: XY A s
ool RFHAMK 25 (Ehel =2l
SN - BE . S2A(3) - KIRA - BAS 04l o & o HimE=T]
307 21201 & 50,783 49,373 1,410
03 BIIHNHE 2L EX 37,783 36,373 1,410
OALR=Z e124d] 29,610 28,200 1,410
M02 L 4E
2% 4,210,0008%12! 4,210 2,800 1,410
S|ESAYM N 122,830 119,830 3,000
= 40,000 40,000 0
= 82,830 79,830 3,000
301 LEtENZ 32,830 29,830 3,000
PSR 32,830 29,830 3,000
OYYTOISLYY PFI| Y2 X
3,000, 00024 *1A! 3,000 0 3,000
SSCH eS| YADIAY K- 18,040 9,340 8,700
202 Odd| 500 1,000 A500
01 ZUHOIBI 500 1,000 2500
OB D YAIIAY ZF O]
A 500,0002 14! 500 1,000 A500
307 2I2¢0| A 200 1,000 N800
06 2= 200 1,000 A800
OBHCH DEELAI| ALY B 2
s A 200,0002+1A! 200 1,000 2800
405 THAHFSH] 10,000 0 10,000
01 AL ESF S| 10,000 0 10,000
OYYTOIS| WAHZARA FI| 7Y
10,000,000 * 14 10,000 0 10,000
HRASA 245t X 358,502 320,136 38,366
2 32,941 2,941 0
& 12,000 12,000 0
2 313,561 275,1% 38,366
AR SALR K& 65,770 33,770 32,000
307 21240/ A 65,770 33,770 32,000
RIS PONETEES 65,770 33,770 32,000
OXNESAEH AtH XI& 65,770 33,770 32,000
ORESAIR B0HS M A
15,000, 0002114} 15,000 15,000
O 22t 15,000, 000214} 15,000 15,000
OQAZTAZAL 0151012 7%
2,000,0002!*14! 2,000 0 2,000
AESAHE 25 K& 202,850 196,484 6,366
307 212+01& 202,850 196,484 6,366
B S HH Y 2SI DE 202,850 196,484 6,366
ORI ZAIE 22|
AT 55,900,000 %141 55,900 54,940 960
OXASAHIH 2124 146,950 141,544 5,406
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A AR E ot
[oZ]

M NUXISHE A 25t
&2l NESAL 4z X3 (St M)
2AH - ZE . S2(3A) - MIRAY - BHES Odl &FoH N3 HwsZ
OAtR=Z 2124d] 68,938 66,402 2,536
-JlE2z ZE 3,470,002 x1F 123 41,651 40,107 1,544
=g 28 14,541,000 %14 14,541 13,830 71
S ESESE=T= 28 4,683,000 14 4,683 4,482 201
“AUEE= ZE 8,062,540&«14! 8,063 7,983 80
O8& elAt| 59,010 57,038 1,972
-JlEgs ZE 3,006,500« 14+ 12& 36,318 35,137 1,181
at=1 ZE 11,782,000 *14] 1,782 11,185 597
S ESESE== Z & 4,008,000 14! 4,008 3,861 147
“AUHEg= EE 6,901,350 +14] 6,902 6,855 47
O20 2IAHBI(REA) 19,002 18,104 898
=g A& 673,800 2128 16,172 15,503 669
-AHEE= ZE 2,830,000 14! 2,830 2,601 229
ogtEEs X 118,200 107,044 11,156
Ot &= 24 118,200 107,044 11,156
307 21201 & 42,240 31,084 11,156
02 QIZHEAAIAE = 17,156 6,000 11,156
OLRAT OISZ stitstal &It
ZE 17,156,000 *14] 17,156 6,000 11,156
HHYE x4 284,929 246,929 38,000
= 10,000 10,000 0
= 274,929 236,929 38,000
DEAMZII2H 22 £ XA 69,344 31,344 38,000
201 Ytz AH| 61,000 23,000 38,000
01 Ar2teltl 61,000 23,000 38,000
OLEAEIIRH 22 L QI 40,000 2,000 38,000
o294 & 10,000, 000& 24 20,000 0 20,000
O=EE3 HH 4,000,000 *14] 4,000 0 4,000
OsEE gd& +<
4,000,000 *14] 4,000 0 4,000
ONIACY &&ts] ot A X/
5,000,000 *23 10,000 0 10,000
=0 4o & g XA 2,067,212 2,134,334 N67,122
& 40,000 25,000 15,000
= 2,027,212 2,109,334 N82,122
FOXXAEH 29 267,900 222,600 45,300
FRXXIHEH 2HXA 267,900 222,600 45,300
201 LBrEAY| 221,000 191,000 30,000
01 Ar22telt| 210,000 180,000 30,000
O=2IXXIHEH 22|
ZE 15,920,000 *14] 15,920 180,000 164,080
O=CIXXI?AS Eazlo &S
20,0002 *126H * 123 30,240 0 30,240
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N RSN L= PSin
M =0 49 A s T
&l FOXXHH 29 CERE))
2AH - ZE . S2(3A) - MIRAY - BHES Odl &FoH N3 HwsZ
OAE)| FOITXIMEH WEWA 2ZHAHI
40,0002 324 *2 Al 2123+ 4= +4H & 81,920 0 81,920
OBt =QURXIEEH BEWA 2HA]
40,0002 *32IN+2 A1 2H%23] %4 7= x40 2 81,920 0 81,920
202 04dl 1,000 1,400 A400
01 =W GBI 1,000 1,400 A400
OFLXXIMH ezl HFAX s
ZA 100,000 x5 +23 1,000 1,400 2400
308 AHXIHMSO0IA 10,000 0 10,000
11 S 2SN HEE A X 2E AL 10,000 0 10,000
02023 AJASEXE F0IXRS23 &
b 10,000,000& * 14 10,000 0 10,000
405 XtabE S 5,700 0 5,700
01 XY ESHSHI 5,700 0 5,700
OFCIAXHH ISWA 2HEF 2 5,700 0 5,700
OLLs UL BN 2HESS
- 2,200,000 14 2,200 0 2,200
O8EH FOXXME NEWA RASE
2 3,500,000& 14 3,500 0 3,500
FUEXAE 2922 1,599,862 1,592,834 7,028
&< 35,000 25,000 10,000
i 1,564,862 1,567,834 A2,972
SE=EXEE 2 1,125,062 1,138,034 A12,972
& 25,000 25,000 0
= 1,100,062 1,113,034 N12,972
401 AlEHIL 2| 923,090 809,090 114,000
< 25,000 25,000 0
= 898,090 784,090 114,000
01 A& 923,090 809,090 114,000
o4AEe| AZY MES I8 AL 8
& 27,000 0 27,000
ORNZE AAEH 89
7,000,000&*14] 7,000 0 7,000
OAE AAEH E4HI
20,000,000 & *14] 20,000 20,000
Oo=s2cl E32(2H) =43A 87,000 87,000
OZ2x=4 A4 89
7,000,000& * 14 7,000 0 7,000
OB3ZH 3M 80,000,000& *14! 80,000 0 80,000
402 QI2EXH=0| & 201,972 328,944 A126,972
01 QIZEXH2AIS B = (REMIRH ) 201,972 328,944 N126,972
oaLEe| ZE=ENS A=
ZE oA 0 240,000 240,000
o4l EE=ENs2 B4
Z3 16,910,000 *80% 13,528 8,000 5,528
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S KX
HI: F0 40 A A XA
Bl FUSAAE 22 (St M)
S - FH - SA(S) - AIRA - BES Ol &k N & Hlws2
Oct2Ee| S=Xs2 2
12,500,000 «80% 10,000 0 10,000
o=l =2 B
25,000, 0002 *80f% 20,000 0 20,000
ogsdel =N B
18,750,000 +80% 15,000 0 15,000
OoXel s¥=ENs2 B
12,500, 0002 *80% 10,000 0 10,000
OAEel SE=Xg2 25
18,750,000% *80% 15,000 0 15,000
ool EEg=Xg2 2
26, 250,000& *80% 21,000 0 21,000
O &1 SE=ENZ2 2=
1,875,000 *80% 1,500 0 1,500
Ogcl s=ENs2 2
18,750,000% *80% 15,000 0 15,000
X&el 02l ZHAIE(ZHIEX) 20,000 0 20,000
e 10,000 0 10,000
i 10,000 0 10,000
401 AIEHIZ SO 20,000 0 20,000
< 10,000 0 10,000
= 10,000 0 10,000
01 A&l 20,000 0 20,000
OxlZel Or2gH =4
20,000,000 * 14! 20,000 0 20,000
< 10,000 10,000
= 10,000 10,000
OrSCH2 OtSersSJl X3 199,450 318,900 A119,450
& 5,000 0 5,000
= 194,450 318,900 A124,450
OIS ST (HEAIY) 189,450 318,900 129,450
201 223 6,650 11,600 A4,950
01 AFS2tell 6,650 11,600 A4,950
OOISLI2 0IS2HSI| ArY 24E X
Z& 150,000 %901 A28 2,700 6,000 23,300
OOISLH2 DISSII MY B2 2 22X
z ZE 2,000,0002 %14 2,000 3,650 A1,650
307 212+01& 175,500 300,000 A 124,500
02 QIAHMAHER 175,500 300,000 A 124,500
OOtSCI2 0IS2SD1 A X
Z&E 175,500,000 14 175,500 300,000 A124,500
20239 23 DtS3sH XJAK 10,000 0 10,000
e 5,000 0 5,000
= 5,000 0 5,000
307 gl2+ol& 10,000 0 10,000
== 5,000 0 5,000
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A BPAPN LRSI
M. =01 40| & sAF X
(= — (=}

Chef: 8_% TD-E- PE%@%DI A& (St M)
S - FH - SA(S) - AIRA - BES Odl &k24 N3 A HwsZ
i 5,000 0 5,000
02 BB AAIEE X 10,000 0 10,000
02023 2AE OI2SSH XA
10,000,000 *1JH A 10,000 0 10,000
= 5,000 0 5,000
i 5,000 0 5,000
ol 295,000 293,000 2,000
RS 295,000 293,000 2,000
olR=2|d] AIHEX 295,000 293,000 2,000
201 22| 17,000 15,000 2,000
01 AHR&t2ltl 17,000 15,000 2,000
OFRLAXAUSARS 2IA o
100,000 +5EH *43] 2,000 0 2,000
s us=EX &5 1,047,500 1,067,500 20,000
s wEs=l &= 1,047,500 1,067,500 220,000
X ell=sd 1,047,500 1,067,500 220,000
201 LAY 1,500 11,500 210,000
03 A2 | 0 10,000 10,000
o2 Nsstd HerPAIEdEzl JHzl
2E 0& 0 10,000 210,000
308 NtXISHMSOIH 0 10,000 A 10,000
07 X223 0 10,000 10,000
OXXHHME =& e He 2 XA
Z2& o0& 0 10,000 210,000
2|& MNE2LD| &d 2,512,463 2,489,163 23,300
QINEE 2 193,483 249,683 256,200
CIAIHE 2t 26,360 16,360 10,000
201 LEH2 | 26,360 16,360 10,000
01 ArR&teltl 26,360 16,360 10,000
O=22 W& AE |g 89 =&
& 9,250,000 +24 18,500 8,500 10,000
LA A el 2e 167,123 233,323 266,200
101 2124d| 97,000 74,200 22,800
M IRIHMZ2ZNSES 97,000 74,200 22,800
QJIIZtNIZ2EXN S+H2A T
328 0 0 6,000 26,000
oumesE 22X 23
Z& 1,800,000 x5H+8 72,000 43,200 28,800
201 LBt2A| 9,600 98,600 289,000
01 At 228l 9,600 94,600 285,000
O/ EEH EEN g3 03 0 80,000 280,000
OMHITHB A F& 3% o0& 0 5,000 5,000
02 23224l 0 4,000 24,000
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SN
K| ZH -
(=

cho):

SN - BE . S2A(3) - KIRA - BAS 04l o & o HimE=T]
0P SHABATH|
3 0 0 1,500 A1,500
OB S4AYAT| A3 0 0 2,500 £2,500
SEERES 1,579,930 1,505,430 74,500
SEIEEEEEE 117,500 45,000 72,500
201 Yer2 | 02,500 30,000 72,500
03 A2 2HI 72,500 0 72,500
oA TR =AHE X2
47,500,002 14! 47,500 0 47,500
oA TP =AY X
25,000, 000! +14! 25,000 0 25,000
SUSTAIY 29 1,231,280 1,229,280 2,000
405 THHFISHI 2,000 0 2,000
01 T YL EEFSH] 2,000 0 2,000
OSIIH42IR (HII1A ARAXI| DY
2,000, 0002 +1CH 2,000 0 2,000
x| 78,460 73,460 5,000
CXBE XY 78,460 73,460 5,000
201 Yer2 | 78,460 73,460 5,000
03 A2 HI 70,000 65,000 5,000
OTLN BYUT AA
2T 40,000,00081%14] 40,000 35,000 5,000
HESH oImptas 655,425 615,425 40,000
HESA JIPAIE 2 655,425 615,425 40,000
HESNY 20 458,464 418,464 40,000
401 AIEBI L= TH| 55,000 15,000 40,000
01 Al 55,000 15,000 40,000
ORUSAAH A, B
27 55,000,0001%14] 55,000 15,000 40,000
WS (XX ) 3,256 0 3,256
EEE 33,256 0 33,256
2x3 g 8,256 0 8,256
802 Bre+ 20|} 8,256 0 8,256
IEREEE=TIEE) 14 0 14
02021 KHAZMHE DCILIOIE Q12AH| |
AT O T} Bhe 3,7912014) 4 0 4
020224 RHAZAHE 2CILI0IE 2124Y| K|
AN OIT Bhe 8,580%4% 144 9 0 9
020224 RASAX BH2 K2 A2 01X
Bt 81«14l 1 1
2 Al - SHIZZEZUHES 8,242 0 8,242
0202 YATH UBUANALY Yoz
Bht 2,498,670 %141 2,499 0 2,499
0202 YATH UBLAAAL Ol
of Brg 17,0101} 18 0 18




2N
K| ZH -
(=

cho):

SA - EH . O9(3) - MSAY - BAS Ofl e R DS
Q20223 2201 QIHEIE XIRAALY O KtEt
= 9,280 *14] 10 0 10
©2022F KHJASAHE T2 2% XIJA
o OlAt gre 5,250 14 6 0 6
ONBE M=TAIKIZEH HHRH I Okt
ghet 3,841,800& 14l 3,842 0 3,842
©20224 MOISXIEA Xt Eatg S aro
B 413,500 14! 414 0 414
Q2022F 23 NAXgd M E23| AtY 0l
A+ gt 5,010 *14] 6 0 6
02023 23 NXHE 23t EE3| AIY 0Ol
At ghef 4,260 <14 5 0 5
020223 X9s8l g2l WEE3 At 0l
At gref 1,920 3 14 2 0 2
Q20228 B30t T2 2e| At SAAL
S CHl BExz Y U O|A gy
1,439,760 * 14 1,440 0 1,440
LHEHHXI & (XX & E D) 25,000 0 25,000
TR IISHEEZ 25,000 0 25,000
01 JI=d&E= 25,000 0 25,000
OQLNEANHI 2 HES
25,000,000 14 25,000 0 25,000
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